414 Schlafzimmer

BF:14.1m2

B: Parkett (Eiche)
W: Abrieb weiss 1.0

Whg Nr.: H3a 402

615.0 = +11.60 M.ii.M.

Zimmer: 3.5

HNF:  79.4
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Typ: B10b
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Typ: BD-20
BF:5.2m2

B: Fliesen
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W: Abrieb weiss 1.0/Fliesen

413 Wohnzimmer

BF:34.2m2

RB:+11.46|FB:+11.60
B: Parkett (Eiche)
W: Abrieb weiss 1.0
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B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz

412 Kiiche
Typ: K-20
BF:7.5m2

B: Parkett (Eiche)

W: Abrieb weiss 1.0/Glaswand

D: Weissputz
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BF:15.6m2

RB:+11.46|FB:+11.60
B: Parkett (Eiche)
W: Abrieb weiss 1.0
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